Sh

1/2,500




TEE

S=1/1000

TEER L=142.0m

0 ON

& = & B X

TREKE - FERE - KRBT A=650.5m
XE# EE(BE/) W=15cm L=145. Om

() BERVBES

1R 2 1 7 (X

1.5%

S=1/50

1.5%

XE#HR ER(ER)

y W=15cm

H

KET (As13) t=4cm

+ B AR T (RM25)

t=10cm

U

Pty T TR KA T (RC40) t=15cm
T VIR E
T(1n-c81¥ \ iy
® % ‘l
it 4
§ =
= FP°
= o : ~J
= = = o ' ~ |+
= [e) . ' (a1 > N
o . w ~ o
_ N 3
No. 7 No. 6 No. 5 No. 4 No. 3 No. 2 200 No.
2.00 / 20.00 20. 00 20.00 20. 00 20.00 o ® Z 20.00
ele 8 2 2 2 8 20.00 S 2
7:-'C<r < < < < @ < @ < ® <
/
©)

fEEl  t=25cm
No. 0O
IBFE SH6EE
I%% HSMETE
IHEm INERE BN HBIA
BRE A - fEIL41805 4
' R
HEEE | TER SEEME ZEEITR
HEES 1/1
INERT




